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1. Choose the meaning nearest to the underlined
word given below:
If he is lazy, why don’t you turn him off?
(A) dismiss him
(B) engage him
(C) punish him
(D) influence him

2. Choose the meaning opposite to the underlined
word given below:

The boy is extravagant.
(A) spendthrift

(B) miser

(C) indisciplined
(D) irregular

3. Choose the correct alternative to fill in the blank:
It is 3’0 clock
(A) in
(B) by
(C) at
(D) with

my watch.

4. Fillin the blank with the appropriate Preposition:
I am indebted you for your help.
(A) to
(B) for
(C) at
(D) by

5. Choose the correct alternative to fill in the blank:
Neither he nor his friends come to the
party.
(A) have
(B) has
©) is
(D) are

6. Choose the appropriate word to fill in the blank:
a Ford, he has a Fiat car.
(A) By
(B) Beside
(C) Besides
(D) With

7. Choose the correct spelling from the options
given below:

(A) embarrassment
(B) embarasment

(C) embarrasment
(D) embarassment

8. Complete the Idiom by choosing the right part
from the alternatives given below:

is the spice of life.

(A) Beauty
(B) Variety
(C) Love

(D) Honesty

9. Fillin the blank with the appropriate Preposition:
A child is not able to distinguish good ____evil.
(A) and
(B) from
(C) between
(D) to

10. Choose the word opposite in meaning to the word
underlined.

The boys are quite intelligent.
(A) bright

(B) wise

(C) dull

(D) inactive



11. Among the following four:
Cushion is associated with
(A) Bed
(B) Sofa
(C) Train
(D) Hospital

12. Which ‘wh’form is applicable to make the
following assertive sentence, a proper interrogative
sentence:

The flight will arrive at 3 p.m.
(A) Which

(B) When

(C) Who

(D) Where

13. Replace the underlined verb with the most
appropriate phrasal verb from the list:

The girl resembles her mother.
(A) takes on

(B) takes off

(C) takes up

(D) takes after

14. Fill in the blank with the suitable Preposition:
The children prefer mangoes oranges.
(A) for
(B) in
©) to
(D) from

15. Choose the correct form of the verb from the
options given:
The train
(A) left
(B) had left
(C) will leave
(D) has left

when we reached the station.
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16. Choose the correct spelling.
(A) Pneumonia
(B) Neumonia
(C) Pnewmonia
(D) Newmonia

17. Fill in the blank with the appropriate verb.
He to be punctual.
(A) should
(B) could
(C) would
(D) ought

18. The opposite of ‘legal’ is
(A) lethal
(B) illegal
(C) legitimate
(D) legalised

19. The noun form of ‘likely’ is
(A) like
(B) likelihood
(C) liked
(D) liking

20. Choose from the following the correct Indirect
form of the sentence:

He said, “The earth moves round the sun.”
(A) He told that the earth moved round the sun.
(B) He said that the earth moves round the sun.

(C) He said that the earth had moved round
the sun.

(D) He said that the earth is moving round
the sun.
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21. The President may appoint all the following
except

(A) Prime Minister

(B) Governor

(C) High Court Judges

(D) Rajya Sabha Chairman

22. The Rowlatt Act was passed in
(A) 1905
(B) 1913
(©) 1919
(D) 1925

23. The use of spinning wheel (charka) become
common during the

(A) 9th century AD

(B) 10th century AD
(C) 12th century AD
(D) 14th century AD

24. The only state in India that produces saffron is
(A) Assam
(B) Himachal Pradesh
(C) Jammu and Kashmir
(D) Meghalaya

25. Mughal emperor Akbar divided his empire into
(A) Eight provinces
(B) Five provinces
(C) Twelve provinces
(D) Ten provinces

A-4

26. Who built Jama Masjid at Delhi?
(A) Akbar
(B) Jahangir
(C) Shahjahan
(D) Aurangzeb

27. According to Ramayana, who was Bharat’s wife?
(A) Sita
(B) Mandavi
(C) Urmila
(D) Shuthukurt

28. According to Mahabharat, who was Abhimanyu’s
mother?

(A) Subhadra
(B) Draupadi
(C) Ulupi

(D) Chitrangada

29. ‘Kathak’ is a classical dance of
(A) North India
(B) Tamil Nadu
(C) Manipur
(D) Kerala

30. The gas usually filled in the electric bulb is
(A) Nitrogen
(B) Hydrogen
(C) Carbon-dioxide

(D) Oxygen




21. RIS TR fWion Fcaw vy I
(A) AT

(B) Sreyedlei-(

(C) 2= T

(D) AP FoAfo-(F

22. AeEAT ST (@I AN 2o grafeee
(A) 1905
(B) 1913
(C) 1919
(D) 1925

23, 53 IR YT (G TR T2

(A) I =S
(B) WIS *IorA
(C) @i« *rorat
(D) S *erdt

24, SIA0ST I ST T (=T (O IR

(A) S

(B) festioet o
(C) T ¢ I
(D) 9™

25. (N9 S0 SN O AIFET Ol IR

(A) WG FATS
(B) 6 7T
(C) A TS
(D) W 3IS
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26. (3 f@ice & fem Cofy Fafes 2
(A) ORFIT
(B) ©RRA
(C) =iz&R=
(D) @THEA

27. I SR, SACOF Bl (F2
(A) Fret
(B) et
(C) Tfife
(D) gio

28. OIS SR SO A @2
(A) eut
(B) Gatefdt
(©) Tt
(D) foarsmt

29. YT oA T (FIAPA?
(A) Ted ©Ie
(B) SIfiETrg
(C) wiasz
(D) @&

30. A EHHS AEI N I AP S 2 2
(A) TiREGITE
(B) ZfErgitew
(C) FH-TiR-wHZT
(ORE
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medal in Olympics?
(A) Milkha Singh
(B) P.T. Usha
(C) Karnan Malleshwari
(D) K. D. Jadhav

|

31. Who was the first Indian to win an individual
|

|

32. Who is the father of English Poetry?
(A) Milton
(B) Wordsworth
(C) Chaucer
(D) Charles Dickens

33. Who directed the film ‘1942 : A Love Story’?

(A) Mahesh Bhatt

(B) Vidhu Vinod Chopra
(C) Yash Chopra

(D) Ketan Mehta

34. Who is the author of the book ‘My Experiments

with Truth’?
(A) Mahatma Gandhi
(B) Michael Anderson
(C) Winston Churchill
(D) James Morris

35. Garampani sanctuary is located at
(A) Gangtok, Sikkim
(B) Kohima, Nagaland
(C) Diphu, Assam
(D) Junagarh, Gujarat
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36. ‘Golden Temple, Amritsar’ is India’s
(A) largest gurdwara
(B) oldest gurdwara
(C) Both (A) and (B) are correct
(D) None of the above

(A) Volleyball
(B) Football
(C) Cricket
(D) Hockey

(A) Dispur

(B) Marmagao
(C) Dehradun
(D) Darjeeling

following musical instruments?
(A) Sarod

(B) Veena

(C) Violin

(D) Sitar

40. Sun Temple is situated at
(A) Konark
(B) Bangalore
(C) Haridwar

(D) Kerala

37. ‘Durand Cup’ is associated with the game of

38. Himalayan Mountaineering Institute is at

39. Amjad Ali Khan is associated with which of the




31. (@ 24U SO (@ AT e GIws (&ie ?
(A) ferar fre
B) . 5. T
(C) T TP
(D) . fe. awx

32. JIF 3 RO T @ W2
(A) s
(B) earGHSTef
(C) =R
(D) Bisf o

33. ‘1942 : w1 &fre EOIRR PR sifdsiers @ 2
(A) W= 5
B) Ty R et
(C) Tt (oioret
(D) e 29!

34. Wi @FICARTITH T2 G 329 wfiel (32
(A) =1 oA
(B) A& GO
(C) T2 wifpe
(D) (e

35. oo SPIRRAN (I w1FS ?
(A) %=, Bifes
(B) Ifes, Fielieie
(C) e, SPT
(D) GG, &G
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36. “CSNTTH (G, SO’ 2o SIA0e
(A) AT TG GF7IA
(B) FCAE RN @FRIA
(©) (A) s (B) TerR o
(D) TowEa @I 7

37. G FA’ G (I ML T&—
(A) SfeRe
(B) o=
(C) fere=d
(D) 2=

38. ‘e ST THHEs” @INw waFe ?
(A) frog
(B) Saisie
(©) oA
(D) Wi

39. e e <t (I T FRICOT A IS ?
(A) AW
(B) et
(©) (=t
(D) G

40. > S @R SREe ?
(A) @S
(B) WA
(OIEERES
(D) A
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41. The World Environment Day is celebrated on 46. Light year is a unit of
(A) April 7 (A) Time
(B) June 5 (B) Distance
(C) August 6 (C) Light
(D) June 16 (D) Intensity of light

47. Which of the following is not included in Mughal
42. ICICI is the name of paintings?

(A) chemical industry (A) Portraits
(B) bureau

(C) corporation

(D) financial institution

(B) Islamic themes
(C) Flower and plants
(D) Hunting scenes

48. Which of the following phenomenon is
considered responsible for global warming?

(A) Greenhouse effect
(B) Fire in coal mines
(C) Dry farming

(D) Monsoon

43. States earn maximum revenue through
(A) land revenue
(B) custom revenue
(C) commercial taxes
(D) excise duty on intoxicants

44. How many banks were nationalised in 1969? 49. Plants receive their nutrients mainly from
(A) 16 (A) chlorophyll
(B) 14 (B) atmosphere
(©) 15 (C) light
(D) 20 (D) soil

50. What frequency range is the high frequency

45. The island of Sri Lanka was formerly known as band?
(A) Madagascar (A) 100 kHz
(B) Tasmania (B) 1 GHz
(C) Ceylon (C) 30to 300 MHz
(D) None of the above (D) 33to 30 MHz




41. ‘R oifara= A7 e =
(A) 7 «fie
(B) 59
(C) 6995
(D) 16

42. ICICI JI7F I 2
(A) @ e
(B) gl
(C) At
(D) wdtsfos afee

43. 3G FArorwt AT AW I
(A) & (A ATH
(B) &% (AF O
(C) fifeTs =
(D) it TTIR ToF RN wF

44, FOUTE JIFCS GO I RS 1969 AT ?
(A) 16
(B) 14
(©) 15
(D) 20

45. vzt A o N 7@ 7O 2
(A) OINETRR

(B) wormifaa

(C) P

(D) ®omR IR 77

46. =IRG TAIT 2e I 286 2
(A)
(B) 159
(C) wesT
(D) SR T

47. I (o 2R g 4F TS W 2
(A) afegfs
(B) T@ifis fAmefa
(C) T @ sl
(D) Pica= P

48. R N0 (I AR i 431 2G-SR &l 2

(A) T4 2T qOR
(B) FEANRTS Saw
(C) BF BIF
(D) GToIfa g

49. N SR ARIATE A1 21 o7 (LA (A ?

(A) *lazfie
(B) Irgwes
(C) =t
(D) w6

50. @ FAIE A 24 T FriEH e ?

(A) 100 kHz

(B) 1GHz

(C) 30 (= 300 MHz
(D) 33 (¥t 30 MHz
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51. Electric bulb filament made of
(A) copper
‘(B) aluminium
(C) lead
(D) tungsten

52. Ecology deals with
(A) cell formation
(B) birds
(C) relation between organisms and their
environment
(D) tissues

53. The headquarter of the United Nations is at
(A) Geneva
(B) Paris
(C) New York
(D) Washington

54. Amnesty International is an organisation
associated with which of the following fields?

(A) Protection of cruelty to animals
(B) Environment protection

(C) Protection of human rights

(D) Protection of historic monuments

55. The second most important agro based industry
of India after textiles is

(A) dairy industry
(B) pulp industry
(C) processed food industry
(D) sugar industry

56.

il

B. C. Roy award is given in the field of

(A) music

(B) journalism
(C) medicine
(D) environment

The temperature at which water boils depends

mainly on

58.

39,

60.

(A) air temperature
(B) relative humidity
(C) air pressure

(D) air density

Sea water is
(A) acidic
(B) alkaline
(C) neutral
(D) hypotonic

Water pollution is due to

(A) agricultural discharges
(B) sewage and other wastes
(C) industrial effluents

(D) All of the above

World Ozone Day is
(A) March 16

(B) June 5

(C) September 16
(D) November 16




51. (e I oS o= ofqe
(A) o=
(B) Syreyfaiferamst
(C) Hm
(D) BIEHA

52. IV Q@R
(A) G 1o
(B) #fA
(C) &R GRS AR A 794F

(D) g

53, ifS IR T 1YT (I S[F© 2
(A) (oSt
(B) #mifa=
©) e Td
(D) exfAH

54. SORCARS TTRMAE 26 GFH A9 T (@I
fmfeRe cwafa A 7@ 2
(A) AT Fgaet @ T
(B) ifdz 7!
(C) wiaifaiz !
(D) afsadie gfows 7=

55. (53O 97 o3 ORCeA O FAGE wwFgsyl

FRfefes fm ==
(A) 7% s

(B) =& s
(C) afFers A e
(D) fof¥ fer

A-11

FO/18

56. . B I <7 F owg e W2
(A) A
(B) Aicaifwzel
(C) &3y
(D) “ifzc=

57. @ SPIAHre T& ol due 87 I
(A) AR STt
(B) StoifFs Siwet
(C) I oA
(D) Y 9g

58. (A & 2E
(A) wifa=
(B) =W
(C) =tors
(D) ZEeibfe

59. @ TR S Wi
(A) 3 frmrm
(B) =il @ Sytey 3%
(C) e fAsfm
(D) ToEa Fwiog

60. 4 ereris W3 2=
(A) 16 6
(B) Sg«
(C) 16 GLH=R
(D) 16 T
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61. A light was seen at intervals of 13 seconds. It
was seen for the first time at 1 hr. 54 min. 50 secs. a.m.
and last time at 3 hrs. 17 min. 49 secs. a.m. How many
times was the light seen?

(A) 360
(B) 375
(C) 378
(D) 384
62. Four friends A, B, C and D together have < 47

with them. A & B together have ¥ 27; C & A have X 25;
D & A have X 23. How much money does B have?

(A) %9
(B) 11
(C) X13
(D) 28
63. The pages of a book starting with 1 and requires
3269 digits in all. How many pages does the book have?
(A) 1000
(B) 1078
(C) 1084
(D) 1094

64. The school clerk told the teacher-in-charge, “The
school bell is rung at regular intervals of 45 minutes.
The last bell was rung 5 minutes ago. The next bell is
due to be rung at 11-20 a.m.” At what time did the clerk
give this information to the in-charge?

(A) 11-00 a.m.
(B) 10-50 a.m.
(C) 10-45 a.m.
(D) 10-40 a.m.

65. A mobile company offered to pay the Indian
Cricket Team as much money per run scored by the
side as the total numbers of runs it gets in a one-dayer.
Which of the following can not be the total amount to
be spent by the company in this deal?

(A) 21904
(B) 56169
(C) 101761

(D) 121108

66. On dividing 2272 as well as 875 by a three-digit
number ‘N’, we get the same remainder. The sum of
the digits of ‘N’ is

(A) 10
B) 11
©) 12
(D) 13

67. Inaparty, 15 people shake their hands with each
other. How many handshakes take place?

(A) 105
(B) 120
(©) 135
(D) 165

68. If -7<x<7 and 0<y <12 Whatis the greatest
possible value of y — x ?
(A) -19
(B) 5
©) 17
(D) 19

69. If x is a positive number, then which of the
fractions has the greatest value?

=
X

x+1

x
x+2

D
()x+3

70. The number of boys in a class is three times the
number of girls. Which of the following numbers can
not represent the total number of students in the class?

(A) 40

(B) 42
(©) 44
(D) 48




61. G ST 13 sec. WG (7l Fifveet | «ff ==
1 hr. 54 min. 50 secs. a.m. €32 (*1F31F 3 hrs. 17 min. 49 secs.
a.m.~4 (74! foiafes | e soara ordl foicafes
(A) 360 3=
(B) 375 A
(C) 37831
(D) 384 A

62. BT IF A, B, C 938 D- 93 IR GG T 47 S0z |
A € B-93 (R 3¢ X 27 Tz, C 8 A~ FI(R G376
SR X 25, D 8 A-99 IR G309 =R T 23 | B-937 I
IO DIl R ?

(A) %9
(B) X 11
(C) %13
(D) ¥ 28

63. 3T 2 2D 1 (AF BF IR TR G (NG
3269 o% A< IR I TRCZ | 30O B A T 2
(A) 1000
(B) 1078
(C) 1084
(D) 1094

64. FER FIF SRANG RIS TN “FeTa 9B
oS 45 fif s =rex I 27 | T 9B @R 5 WG
et | ATEE I A 1120 a.m. @ | @IF T FIF
wirae e 3 o Mafeew e

(A) 11-00 a.m.
(B) 10-50 a.m.
(C) 10-45 a.m.
(D) 10-40 a.m.

65. 93 GRS MY SIeR fFh Wi v
QI (93 MRAETE (LT Or ! (16 T© e 03, e &S
TS B! (RS Z(A | 3 VI & ALZIE A (e sAfeif
6 FACS A A2

(A) 21904
(B) 56169
(C) 101761
(D) 121108
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66. 93 for STFF A N’ 71 2272 932875 (F@lof
FACT G2 ST AeT W N’ Wit smefem
iz 2

(A) 10
(B) 11
©) 12
(D) 13

67. G DI 15 T ST AT ST AN e
(A | FOBfF FAMCEAF IO IO 2
(A) 105
(B) 120
(©) 135
(D) 165

68. AM —7<x<7 @R 0<y<12 3, ©@ y - x93
YRR T W IS (A2
(A) -19
(B) 5
(©) 17
(D) 19

69. M x @I LI A T, O ADF waAAlE
W @0 W FAfEw e

@
P

X
(B) o

@ 2
X

x+2
x+3

(D)

70. 93 FICT (WA WA (AW TRAF fomae |
o7 @A FE™ i =@ 7)Yt W s e
(A) 40
(B) 42
(C) 44
(D) 48
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71. During the routine medical check-up in school,
Nita notices that she is both the 12th tallest and the
12th shortest student in her class. If no two students in
the class have the same height, how many students are
there in the class?

(A) 22
(B) 23
(C) 24
(D) 25

72. Anik ranks twelfth in a class of forty six. What
will be her rank from the last?

(A) 33
(B) 34
(C)} 35
D) 37

73. The value of 200001+ 1000-005 is
(A) 2
(B) 0-02
©) 20
(D) 200

74. The volume and surface area of a cube are
numerically equal. The numerical value of the edge of
the cube is

A) 1
(B) 6
© 12
(D) 36

75. From a given piece of cloth of size 10 cm x 10 cm,
the maximum number of 3 cm X 3 cm pieces that one
can cut out, is

(A) 9
(B) 10
(C)s 151
D) 12

76. The sum of three prime numbers 5 is 100. If one
of them exceeds another by 36, then one of the number
is

(A) 7
(B) 29
(©) 41
(D) 67
77. The cost of 21 shirts and 35 trousers is T 41825.
What is the cost of 9 shirts and 15 trousers?

(A) T 17775
(B) 17925
(C) % 18075
(D) T 18725

78. If 30 per cent of 40 per cent of a number
(positive) is equal to 20 per cent of ‘p’ per cent of the
same number, what is the value of ‘p’?

(A) 15
(B) 50
(C) 60
(D) 80

79. A drum of oil is % full. When 30 litres of oil is

drawn from it, it remains %2 full. The capacity of the
drum is

(A) 120 litres

(B) 135 litres

(C) 150 litres

(D) 180 litres

80. The total strength of a school is 1360. For every
15 boys, there is one girl. The number of girls in the
school is

(A) 80
B) 85
(©) 90
D) 75
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71. FE Y AW W, WO (WA (T ©IF FIGA
T 1293 791 @ 129% H! =1a! | I O FITT @I
7w RIER I el 71 27, I FIGT (6 T T gl
feee
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(B) 34
(C) 35
(D) 37

73. 200001+ 1000-005-43 S
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©) 12
(D) 36
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©) 11
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(A) 7
(B) 29
(C) 41
(D) 67

77. 217 & @ 351 i1 e «@weg T 418251 9f6
il @ 156 SieHa o7 T ¢
(A) 17775
(B) ¥ 17925
(C) T 18075
(D) X 18725

78. AW PN LIS AT 40%-97 30% (3 7B
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(A) 15
(B) 50
(C) 60
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(A) 120 foidra
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(C) 150 feor
(D) 180 &5
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